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> Fe + H,S0,——=FeSO, + H, 1 +2n( H,) o n( H,) =n(Fe ) —n(O )
H, =0.04 mol —0.02 mol =0.02 mol V( H,) =0.02
o x22.4=0.448 1.=448 mL. D o
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H, S0,
‘n (H,S0,) =n(FeSO,) =n(S0,>")
=n( Fe’") =n(Fe ) =0.04mol o
: Fe,0, +3H,S0,=—=2Fe,( SO,) , +
3H,0  CuO + H,S0,=—CuS0O, + H,0
Fe,0,.CuO H, SO0, o
n,(H,S0,) =n( 0 ) =0.02 mol.
n( H,) =n,(H,50,) =n (H,S0,) °
n,( H,S0,) =0.04 mol —0.02 mol =0. 02 mol
V(H,) =0.02 x22.4=0.448 .=448 mL. D
:2n( Fe) = o
4n( 0,) +2n(H,) 2n( Fe ) =2n( 0 ) ( 12017 -01 - 18)
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2x +3y +5z +9w =109 @
Sx+7y+9z+ 11w =134 +19 x2 @
x+y+z+w=20 ®
2x +2y +4z +2w =31 +19 @
D@ x=3 y=52z=5w=
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R R NaOH
- 3.75¢gR 50 mL 1 mol/L. NaOH
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R NaOH
R
; 3.75 ¢ R 50 mL 1 mol/L NaOH
R 3.75 g +0.05 mol
=75 g/mol R 75, —
COOH —NH, 45 16
75-45-16=14 —CH,—;
H,NCH,COOH, A,
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